



## Example: Shock tube (we will learn by example, including shock tube equations)

**Given**: A shock tube is set up with the following properties and two different gases.

• Right (low pressure) side:

Air:  $P_1 = 100$  kPa,  $T_1 = 298.15$  K,  $\gamma_1 = 1.40$ ,  $R_1 = 287$ . J/(kg K).

- Left (high pressure) side: ٠ Helium:  $P_4 = 800$  kPa,  $T_4 = 298.15$  K,  $\gamma_4 = 1.663$ ,  $R_4 = 2077.15$  J/(kg K).
- $x_L = -15 \text{ m}, x_R = 10 \text{ m}.$ ٠

t = 0		Diaphragm	
	4	$\rightarrow x$ (1)	
$x = x_L$		x = 0	$x = x_R$

 $x = x_R$ 

 $x = x_L$ 

At t = 0 the diaphragm ruptures.

## To do:

- (a) Predict properties and velocities on the left and right sides of the shock tube after rupture  $(P_2, T_2, T_3, V_{CS}, a_3, \ldots).$
- (b) Plot the x-t diagram up to the time when the shock hits the right wall  $(x = x_R)$ .

## **Solution**:

## **Assumptions and Approximations:**

- 1. Both gases are ideal gases.
- 2. The flow is approximated as isentropic except across the shock.
- 3. The diaphragm instantly disappears at t = 0.
- 4. There is no mixing of the two gases across the contact surface.
- 5. The duct is well insulated so that the flow is approximated as adiabatic.
- 6. The flow at any cross-section of the duct is approximated as one-dimensional.

(6) 
$$C_{A}I_{L} = \int Y_{L}R_{T}T_{1} = 346.12 \frac{m}{f} = a_{1}$$
  
 $A_{4} = \int Y_{4}R_{4}T_{4} = 1014.84 \frac{m}{f} = a_{1}$   
 $T_{2}J_{4}J_{54}$   
 $F_{1} = \frac{P_{1}}{R_{1}T_{1}} = 1.1687 \frac{F_{3}}{R_{3}} = P_{1}$   
 $C_{3}$   
 $C_{4} = \frac{P_{4}}{R_{4}T_{4}} = 1.2918 \frac{F_{3}}{R_{3}} = P_{4}$ 

$$\frac{V_{KY}}{F_{2} = F_{3}} \frac{F_{2}}{F_{1}} \frac{F_{2}}{F_{1}} \frac{F_{2}}{F_{1}} \frac{F_{2}}{F_{1}} \frac{F_{2}}{F_{1}} \frac{V_{c_{1}} = V_{a_{1}}}{F_{a_{2}}}$$

$$\frac{F_{4}}{F_{1}} \frac{V_{c_{1}}}{F_{1}} \frac{V_{c_{1}}}{F_{1}} \frac{V_{c_{1}}}{F_{1}} \frac{F_{2}}{F_{1}} \frac$$

Rugin (i) 
$$V_2 = V_{aj} = \frac{2}{V_{1+1}} a_1 \left( \frac{M_1 - \frac{1}{M_1}}{M_1} \right) \rightarrow V_2 = 393.4(\frac{m_1}{2})$$
  
 $V_2 = V_{a2} = V_{aj} = 393.4(\frac{m_2}{2})$   
 $V_2 = 293.4(\frac{m_2}{2})$   
 $A_3 = \frac{a_3}{a_4}$   
 $A_3 = \frac{a_3}{a_4} a_4 = 8894.4 \frac{m_2}{2}$   
 $A_3 = \frac{a_3}{a_4} a_4 = 894.4 \frac{m_2}{2}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4}$   
 $A_3 = \frac{a_3}{a_4} a_4 = 894.4 \frac{m_2}{2}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4}$   
 $A_3 = \frac{a_3}{a_4} a_4 = 894.4 \frac{m_2}{2}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4} \frac{m_2}{a_4}$   
 $A_4 = \frac{a_3}{a_4} \frac{m_2}{a_4} \frac$ 

$$\begin{array}{rcl} An_{J_{0}} & \displaystyle \int_{-\gamma}^{2} = \left( \begin{array}{c} A_{2} \\ \overline{A_{4}} \end{array} \right)^{\frac{2}{d_{4}-1}} & = & 0.6603r \\ & \displaystyle \int_{-\gamma}^{2} = \left( \begin{array}{c} B_{2} \\ \overline{A_{1}} \end{array} \right)^{\frac{2}{d_{4}-1}} & = & 0.87302 \begin{array}{c} \frac{b_{2}}{A_{2}} \end{array} \\ & \displaystyle T_{3} = \begin{array}{c} \left( \begin{array}{c} B_{3} \\ \overline{A_{1}} \end{array} \right)^{\frac{2}{d_{4}}} & = & 0.97302 \begin{array}{c} \frac{b_{2}}{A_{2}} \end{array} \\ & \displaystyle T_{3} = \begin{array}{c} \left( \begin{array}{c} B_{3} \\ \overline{A_{1}} \end{array} \right)^{\frac{2}{d_{4}}} & = & 0.6603r \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{3} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{3}} \end{array} \\ & \displaystyle A_{4} \end{array} \\ & \displaystyle A_{4} = \begin{array}{c} \overline{A_{3}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{3}} \end{array} \right)^{\frac{2}{d_{4}}} & \overline{A_{4}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{4}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\ \\ & \displaystyle A_{5} = \left( \begin{array}{c} \overline{A_{5}} \end{array} \right)^{\frac{2}{d_{5}}} \end{array} \\ \\$$

